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3 12H16H BHi— 12H17H BT 12H18H BEH= 12H19H SHAY 12H20H tiiba
A |08 | atrams HE |48 |€M%iﬁ BE |28 |aEE HE |&E |§M%f§ BE |48 |§M$?§ B2
FRIZTMYBATME 0.1 KG|HERER BEHEE 2 KG|HERER
HREE (A ()< 2>(1800ml) 2 1% AL 2KG AZEE/\T (QRC)+ 2KG REF(QRO)+ 5KG AIZEEI44(QRC)+ 2KG
HHE(CAS)<HBE=> 414+6 ZAM<EF R >(50gx2E) 02| F |RIFRA<HE> 6 KG #IZE S 44 (QRC)+ 2KG BB T (cAs)<fEtH 1> 3KG
|G 0.2KG TR R <KE> 25KG| K [EKki(cAs)<ERE> 10KG| 5y [DEEFEIEEK) 118 B [EEeEOMH 3KG
* ,c 2 KrniR 0.2 KG E SREE<EAN> 6KG| 5B [RIEBEFEEL)<EIR> 10 KG ?% # S ZF(QRC) 5KG
R | B 5 [EenEEER 15KG| & |[FEERHQROES> 16| R [8&T(aro) 8K6| 7 [HEESEA> 3KG
# A I T (CAS)<EHE> 24 KG
]
B4 0.3KG 2 0.3KG FARZ il 0.1KG AZEE KT (QRO)+ 2KG B 0.3KG
FARZ i) 0.1KG| 4 AT ZEE44(QRC)+ 10KG| SFTREEEN)<EIR> 25KG| 45 BIREART (EO)+ 30KG| 47 LB E)(EH)(QRC) 35KG
&l Ji_L 4L ZEE##(QRC)+ 2KG| Z |HEE<EA> 21KG| F |IRA#A<tRE> 2KG| T |FLERAA(EES]44)(1K) 38| B |RITRA<EE> 2 KG
R | u [sP8BR k6| ¥ |[EEE ake| N |ssims 25K6| FIREE A (CAS)<E— B> 2ke| =
HF#4EEER)<2IR> 12 KG & ® Fr(EE)+(QRrC)<BE5> 3kG| i
= | B |E#% 0.2KG E R AmE 0.2 KG ? B4 0.2KG 0.2 KG
® E 1 5 3 (R SH B ) 31KG ;Z\ BN (B 31KG g |MEXREH) 31KG 31KG
i 2 0.6 KG Y ARKBEZ(QRC)+ 5KG BRI E<ZTTE>(65g) 410+6 & s B 0.6 KG 7KG
< | & INERT(3~4cm) 0.6KG| gz |AIZEEI##(QRC)+ 2KG| gy = |BEEERAN 6 KG éI INZE 8 KG
o | % [t 20 17| T |FesEs 1xa| & Z [%2(100g) 28| ¢ [AE-EBEE 28
?; SR TFERARE 2k f; £41F5(QRC) sk| 2 7;;
K Kk [KR 425 | g |BEEZL<EEZ>(125ml) 6 i
R R D |wh<BELZ>(125ml) 421+2 i
Epall e bkl LE pshal LE Wl e B HE
x SRMREE 5.1 SEREE 5.1 SRRHIH 5.6 SRR 5.2 SRR 5.5
= TEENE 2.9 TEENE 2.6 TEENE 2 TEENE 2.1 TEENE 1.9
§ SHAESE 3.2 SHAESE 3 SHHSE 3 SHIFEE 3 piifiEs] 3
2 BhFE 1.1 EE] 13 R 0.1 B 0.9 B 1.8
B FLAE e s KERHE 1 FLatdH 1 FLitH
BECKR) 746 BEOKF) 720 BE(KF) 740 BEKFR) 760 BEKF) 708
K IREEFALDP HiFRG £




